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Objective Type

5)The tolerance of dehydration is

a) Osmoconformers \ b) Osmoregulators | ¢/c) Anhydrobiosis | d) Dehydratlon
6)Which one of the following is excretophore ?

a) Stem | b) Root | ¢) Bark | /d) Le&v{fs
7) Animals excreting urea are called

¢/ a) Ureotelic | b) Ammonotelic | ¢) Uricotelic l d) Excretotellc
8)A diluted solution compared to cell concentration is termed as S e e

a) Hypertonic ‘ ¢’b) Hypotonic | c) Isotonic ., }d) Paratomc
9) One gram of ammonia requires how much amount of water for its, ;emnval

a) 50 ml ' b) 100 ml [ ¢) 250 ml s "‘| .?d) 500 ml,
10) Animals excreting ammonia are A
a) Ureotelic | b) Uricotelic | Vc)AMohgté{gg:-

11) Removal of nitrogenous wastes that requires less amount-of* "«\'rdté‘l‘ i&" -
a) Urea | b) Ammonia _:. }'Vc | d)l actic ac.lq
12) Number of NH3 molecules required to produce one’ moIecule of urea is Fi W
a) | ' ¥h)2 ©).3-. "'} d)4
13) How much water is needed to excrete l g of Ammoma 2

a) 400 ml l vb) 500 ml, - | ¢) 600 ml I d) 700 ml
14) Major homeostatic function of liver ig storage of .

a) Bile 'b) Cholesterol ; | c) Urea e % | vd) Iron
15) Urea 1s produced in

a) Lungs v b)’leer e | c) Kldnevs | d) Pancreas
16) Urine leaves kldncy lhmugh | duct called

a) Urethra | |I b) Ureter | 4:) Urmafy bladder | d) Pelvis

E c)‘30 % | d)50 %
orm’érx}e water up to
2)695% :, . .. | b) 79.5 % & T . | vd) 995 %
22)Super cool cyfosol without ice formation .'is cauSed by

'b) Unsaturated fattv acids | vc) Solutes | d) Enzymes
23)Whlch ammai 1s not poxl\llotherm 78T W
a) Star-fish=., ‘ b) Frog . | ¢) Tortoise | v/ d) Parrot
24)Lizards bask issunto gain™,_ ™., % }
¢/ a) Heat ‘ b) Cald | c) Air | d) Moisture
25)Most land mammals respond to cold by raising their
a) Tail | b) Head | c) Legs | v’d) Furs
26)Which is an endotherm ?
v'a) Bird l b) Bar | ¢) Humming bird | d) Reptiles
27)The homeostatic thermostat in man is
a) Thalamus | b) Cerebrum | ¢) Medulla | Od) Hypothalamus
28) During infection , pyrogens are produced in the human body by
a) RBCs l v'b) WBCs | c) Platelets | d) Blood plasma
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29)
The chemical substance , responsible for raising human body temperature are
a) Leukocytes l v'b) Pyrogens | ¢) Pyrexia | d) Pollutants
30)In bacterial and viral infection , pathogens and leukocytes cells produce a chemical callcd
a) Pyrexia | b) Toxins | ¢) Alfatoxins
31)The fever causing chemical substances in human are
a) Pathogens ‘ b) Poisons | ¢) Alfatoxins | /d) Pymgen
32)Aldosterone is involved in
a) Transport of potassium | b) Transport of water v’ ¢) Uptake of Sodlum m : d) Rcabsorptlon of water
1ons into kidneys Loop of Henle - §
33)Bark is made up of R
¢ a) Cork , cork cambium | b) Wood , pith and Xylem | ¢) Cork , cdrk Camblum d) Xylem , phloem and
, pith and phloem cotex & phloem “| cortex
38)The sclerenchyma cells found in seed coats and nut shell are the Lo ':'
v a) Fibers | b) Vessels | ¢) Tragtileds. ™.
39)Which of the following cells have angular thlckcmngs AT thcrr pnmaxy walls ? L 3
v a) Collenchyma [ b) Sclerenchyma } | d)Ve%eiq
40)Bundle caps in sunflower stem , are formed by . i
v/a) Sclerenchyma l b) Parenchyma | ), Mcsenchyma } d) Collenchvma
41)The membrane that bounds vacuole is called .- ¢~
a) Primary cell ' b) Vascular wal, ™., | c) Pelicle I /d Tonopldbl
42)Which bone provide attachment site for muscles .
v’a) Compact bone ‘ b) Spongy.bone_". “..¢ | c) Soﬂ bone e v | d) Cartilage
43)Number of thoracic vertebrae in the ‘thbracic-region is
a) § vertebrae | b) 10" vertebrae...”” | v c) 12 vertebrae | d) 14 vertebrae
44)The vertebral column ofhuman consml of vertebrae L%
a) 31 )32 | d) 34
45)A bone which connects scapula WIth sternum
a) Humerus ’ byl Isc}uum J c) Publs | v/d) Clavicle
46)The number 0fpelv1c vertebrae in vertebral cnlumn of tah is
a) 5 dis. . b7 TN DD [ d) 12
47)F lbrous 1omt are harmed in 'j:
‘ b) ch 'z | ¢) Arm | d) Chest

va) Flhr,pus _]OlntS ‘ b) Cam,l_ag}npusjmnts | ¢) Synovial joints | d) Hinge joints
49)The diséase which cause immobility and fusion of vertebral joints is called

a) Sciatica ‘ b) Arthritis | ¢) Rickets | v/d) Spondylosis
50)Rickets 1s caused by deficiency of

a) Vitamin A | b) Vitamin B | ¢) Vitamin C | v’d) Vitamin D
53)Sciatica is characterized by stabbing pain radiating over the course of

a) Sciatic artery l ¥'b) Sciaticn | | d) Sciatic capillary
55)Cramp 1s also known as

a) Tetany ' v’b) Tetanic contraction | ¢) Tetanus | d) Muscle tatigue
56)Muscle fatigue is caused by accumulation of

a) CO2 | b) Fumaric acid | ¥¢) Lactic acid | d) Alcohol
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57)Complete immobilization of muscle leads to

a) Increase in capillaries ‘ v¥’b) Severe atrophy | ¢) Increase in mitocondria | d) Resistance to fatigue
58)The skeletal muscles are attached with the bones through the

a) Ligament l v’b) Tendons | ¢) Sarcolemma
59)Skeletal muscle fibres have diameter

a) 100 - 200m ' b) 10 - 100m
60)Tetanus is caused by

v/ a) Bacteria ‘ b) Virus
61)The diameter of skeletal muscle fibres is
a) 10 - 80m | ¢/b) 10 - 100m |
62)In birds . the sternum 1s modified to form

v’a) Keel | b) Neck

63)Proteins that bind to calcium in muscle contraction
a) Actin | b) Myosin

64)The cell found in seed coats and nut shells are

a) Fibers | ¢b) Sclereides } ¢) Vessels 3 ;-.:-'""
65)The collenchymatous cells are highly lignified and: found, iR {hc

a) Epidermis | ¢/b) Cortex "¢ c) Plt’h
66)Tetany is a disease caused by

v/a) Low calcium in b) Low sugar . blood
blood - o, i
67)The chlorosis condition in plants duc to msuff‘ c&cnt tormatlon of

a) CO2 | b) Water ¢ =, ™, | ¢) 02

72) Which neurons have long axon..... *. -
v/ a) Sensory I b) M'o{o; X

| d) Myofibrils

| ¥c)0- 10m

| d) 100 IOOOm

| ¢) Fungi | d) P{otlst

4 ] d)I()- 13 5m

¢) 10 - 120m

| ¢) Rib 1 d) Clavxc]c

| vd) Tropomn

B Tropomyosm

| ) Trachca

I d) Xylem

c) Low vit. D in bfood-..__l d) H{gh calcium in blood

| v d) Chlorapy I

| d) Cell body

| c) Assocratl-ve h

v a) Effectors ‘ b). Ncrvas |’c) Rcéébtor’s"

74) The processes conducimg 1mpuiscs away fromr'the tell'body aré called.

a) Dendrites ik j c) lesl s granules

75)Nissl's granules are grou i : 2
a) Mesosothes ™ b) Lysosomes. :

76)Neuroghal celfs prmnde the neumn'WiT;h
a) Protecl‘mn | b) Qupport

| d) Sense organs

| v d) Axon

. "'V ¢) Ribosomes | d) Chromosomes

| c) LLocomotion | /d) Nutrition

va) Dendron | b) A\(O'n | c) Nissl's granules

" d) Neurofibrils

78)Which of the following recéptors pro_duce the sensation of pain

v a) Nociceptors ‘ b) Chmaréceptors | ¢) Pacinian corpuscles

| d) Mechanoreceptors

79)During non - conducting state the neuron membrane is permeable to efflux of

a) K+ l v'b) Nat+ | c¢) Cl-

| d) Ca++

80)The normal speed of nerve impulse in human is

va) 100 m/sec ' b) 110 m/sec | ©) 120 m/sec

| d) 130 m/sec

81)Cell membrane of neuron is slightly permeable to .

va) K+ | b) Na+ | ¢) Ca++

| d) Fe++

82)Microscopic gap between the two neurons is called as
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a) Synapsis ‘ v’ b) Synapse | ¢) Collapse | d) Presynapse

83)A nerve is

a) Collection of neurons b) Connection of dendrites | ¢c¢) Bundle of axons and | d) Bundle of axons or

and axons dendrites bounded by dendrites
connective tissue

88)Flowering is induced in pineapple by growth hormone called .

a) Gibberellins b) Abscisic acid | c¢) Cytokinins | ;/d) Ethene

89)Which one 1s not a part of limbic system ?

¢/ a) Thalamus ‘ b) Hypothalamus | ¢) Amygdala } d) Hlppocampus

90)Some times parthenocarpy is artificially induced for commercial purpose as m tomato peppers by adding .

a) Gibberellins \ b) Cytokinins | (749 Aumns

91)Reproduction is very important to the survival of

¥ a) Species 'b) lndividual | ) Popula&on"

a) Seed coat I ¢’b) Pollen tube

93)Which one is Parthenogenic Fruit

a) Apple ‘ v/b) Pineapple

94)The special condition of rest , which enables an embrvo to S'UI:VIVC the long permds of unfavc urable
environment condition , is callcd -

a) Bud dormancy | b) Leaf dormangy | c) Stem dormancy;” ™. | V’d) ﬁeed dormancy

95)Fruit ripening is often accompanied by, a hurst of msplratorv activity called the

a) Dimetric l b) Climax ™., ™. ™. ™ | (749 Cllmactnc . j;:- | d) Trimetric

96)Germinating pollen grain is a rich sourct bﬁ.,

a) Gibberellins | c) AbSClSlC aCJd | d) Cytokinin

97)Which one of the following is‘a. type of a&exual reproductlon 9

a) Fertilization [ b). Vemahzatwn l ;/c) Apoml;les | d) Photoperiodism

98)In honey bee , males are hiaploid-and produce sperms b}

¢ a) Mitosis .. | b) Meosis | ¢): Apomms | d) Parthenogenesis

99)Development of an cgg ‘into embryo without ﬁ:ﬂ.l]lZdUOﬂ is called as .

a) Parthenocarpy Tvb) ParthenogeneSrs ic) Meiosis | d) Fragmentation
100)D1p101d pmiheno,_.,qnsxs occurs in . .

a) Wasp ‘ b) Ant | v/c) Aphid | d) Bee

a) Sper,_mqtogqn;a ';. | ¢) Zygospores | v’d) Oogonia
107)Oviduct.opens into . ‘

va) Uterus’ \ b). Ureter B | ¢) Ovary | d) Vagina

108)Gonorrhoa is caused by .

¢/ a) Neisseria \ b) T. Pallldum | ¢) Herpes simplex | d) Clostridium

109)
Syphilis is caused by a spirochaete named as .

a) Nisseria gonorrhoeae | b) Escheria coli | v/c) Treponema pallidum | d) Hyphomicrobiam

110) Release of egg from follicle is called as .

v a) Ovulation | b) Menstruation | ¢) Follicle artesia | d) Fertilization

111) The increase of level of estrogen stimulates secretion of .

a) ACTH | b) FSH | ¢) Progesterone | vd)LH
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112) Developing Seeds are rich source of .
a) Auxins | b) Cytokinins | ¢) Gibberellins | vd) All of these
113) Oviduct open into
v’a) Uterus l b) Cervix | ¢) Vagina | d) Bladder
114) Luteinizing hormone induces .
a) Flowering | b) Vernalization | ¢) Menopause | Vd)()vulatlon
115) Apical meristems are present in .
v/ a) Shoot and root rips \ b) Vascular cambium | ¢) Corks ambium
116)Primary growth in plants is caused by .
v/a) Apical meristem ‘ b) Lateral meristem | ¢) Intercalary merlstem ] d) R}b merlstem
117)Secondary growth leads to an increase in the diameter of the . e
a) Stem ' b) Root | ¢)Leaf £ ¢ 1Vd Stem and Root

122)Blastomeres are formed during .
a) Cleavage | b) Gastrulation | (749 Mol:utla | d) Ferullzaucn

123)The shell , over thick egg , is secreted as it passes through .
a) Ovary | ¢b) Oviduct P U,_lterus.;;
124)The cavity formed between somatic and splanchnic mesodern is-~ ¥
a) Archenteron | b) Hensen's node | Vﬁ)"Coefom [ d) Neumcoel
125)The discoidal cap of cells above the blastocoel ) called-, i
a) Ectoderm ‘ b) Mesoderm .-, ;™ { | c) Endoderm | Jd) Blastoderm
126)Clear cytoplasm in an Ascidian zy gote produces
a) Muscles cell [ v'h) Larval cprdcrmlh | ¢) Gut s | d) Notochord
127)The condition in which an individyal hés, smalf skull is termed-as .% % A
a) Harellp | vb) Mlcrocephalv B Djabetes | d) Epilepsy
dcvclopmcnt aré-grouped together as .
a) Toxins =T, Qa[cm'ogens ) Mutagens | v/d) Teratogens
129)The branch of biol‘bg(/ wfi‘icfi‘déals ‘with abnormal de\z,elopmem iscalled .
¢ a) Teratology ‘ b) Pal: | é)"Gef'onfology | d) Mythology
( Cyellow cytoplasm glves rise 10 .
va) Musclc cclls b) Larval cpldermjs 7 c) Notochord & neural d) Gut
L s bfube

131 )Somltcs are fo:mcd and organized’ by A

a) Ectoderm ‘ v'b) Mes | ¢) Endoderm | d) Blastoderm
37)Hypobfasl 15 mainly presumptive . *." '_:-

va) Endoderm ‘ b) Ectoderm i | ¢) Mesoderm | d) Blastoderm
133)V - Shaped chromosomes aré-callgd: .

a) Acrocentric | b) Telocentric | ¢¢) Metacentric | d) Submetacentric
134)The particular array of chromosomes that an individual processes is called its .

a) Kinesis | ¥b) Karyotype | ¢) Kinetochore | d) Kinetomere
139)Unlike most proteins , histones are

v'a) Positively charged ‘ b) Negatively charged | ¢) Neutral | d) Discharged
140)Number of histone protein molecules in a single nucleosome are .

a) 06 | b) 09 | Vo) 08 [ d) 10
141)Highly condensed portions of the chromatin are called .

a) Euchromatin ‘ ¢/b) Heterochromatin | ¢) Supercoils | d) Centromeres
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142)DNA was discovered in .
va) 1869 | b) 1864 | ¢) 1861 | d) 1871
143)The enzyme which joins the two pieces of DNA is
a) DNA polymerase v’b) DNA ligase ¢) Restriction d) DNA polymerase
endonuclease
144)Which strand of DNA elongates towards the replication fork ?
a) Parental strand ' vb) Leading strand | ¢) Lagging strand
145)mRNA is synthesized by .
a) DNA polymerase ‘ b) RNA ligase | v/c) RNA polymerase i } d)Endonuclease
146)Which of the following polymerase synthesize tRNA . .
a) RNA polymerase - | b) RNA polymerase - 11 N d) RNA polymerase

111 3 »

147)Which of the following is a " Start " codon ? E

va) AUG | b) UAA |)UAG <. ™,

148)A combination of three nucleotides of DNA that specifies an ammo aeid:s called . R

a) Cistron | b) Anticodon l e) Entmn | v‘d) Gcnc‘tlc codc

149)This condition appears as a result of point mutatlon 4 o,
a) Down syndrome l b) Turner syndrome I (:) I(Lmefeller byndrome } /d) Slc]de ¢ell anemia
150) The genetic code for gylcine is .

a) UAG | b) GAU R c) GUA | wd) Gou

151) Pentose sugar in the molecule of DNA-1§-2, ™.

a) Ribose ‘ ¢b) Deoxyribose.. | c) Lactose - -.::_ | d) SUCTOSE

156)The spindle fibers are composed of RNA and protem called . ey

a) Insulin ‘ vh) Tubulm Pt | c) Actln, Lo | d) Myosin

157)At cytokinesis in plants . a mémbrane: stru'éture phragmoplast 15 forméd from vesicles which originate form .
a) Lysosomes Ib)EndopIasnc retcuium Y €) Golgl eomplcx | d) Centrioles
158)The phase of mitogis-Wwhich ensures equal dlstnbutlon af. chfbmatads in daughter cell is .

a) Prophase ¢ % | b) Metaphase | Vs) Anaphase | d) Telophase
159)Karyokinesis invol"vcé' diviéid'r'iﬂof { ik

a) Cell ) | ‘#b) Nucleus ,,c).,.tytoplasm | d) Cell membrane
160)Mitoti¢ appdrdlus is organized during § i - L o7

¢/ a) Prophase™. ™. ‘ b) Metaphase o | ¢) Anaphase | d) Telophase

161 )Durmg cel] dtwsxon the nuclear dmsmn LScalled

a) C\tokmesls [ v by Karyokiiiesis | ¢) Karyotype | d) Plasmolysis
162)Phragrnoplast is formed by ivesicles ongmated from

a) Endoplasinic reticulum | vb) .,Goig; wmple\ | ¢) Chloroplast | d) Mitochondria
163)The tumor which is localized-and rot transferred to other body parts .

a) Malignant l ¥/b) Benign | ¢) Apoptosis | d) Necrosis
164)Which of the following behaves like normal cells ?

a) Benign tumor | b) Malignant tumor | ¢/ c) Cancer | d) Gall
165)Cancer is caused by mutation in .

a) Germ cells ‘ ¥/b) Somatic cells | c¢) Epidermal cells | d) Reproductive cells
166)The condensation of chromosomes reaches to its maximum phase during

a) Letotene | b) Pachytene | ¢) Zygotene | v/d) Diakinesis
167)Meiosis generally takes place in plants during formation of .
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a) Gametes ‘ v’ b) Sportes | ¢) Zygote | d) Embryo

168)Each bivalent is consists of four .

a) Chromosomes [ ¢ b) Chromatids | ¢) Chiasmata | d) Spores

169)In which stage of meiosis , the paired chromosomes repel each other and begin to separate

a) Leptotene ‘ v'b) Zygot | | d) Dlplotene

170)Synapsis takes place in .

a) Leptotene l v'b) Zygot |

173)All are related to turner's syndrome except .

a) Short stature l b) Webbed neck | v’c) Broad face Id) Wlthout ovaries
175)The sex chromosomes of the person affected with klinefelter's sy ndromc are i

a) SYY [b) XXX | VO XXY o " b | 4 ) XY

176)The autosomal non-disjuction in man in which 21st pair of (.hmmobome faﬂ o wgrcgdlc resulung in gametes
with 24 chromosome 1s

v'a) Down's syndrome | b) Turner's syndrome | c) Klmfclldr‘ | d) Jacob's S}n&rmnc

177)The pairing of homologous chromosomes in completed in phase, of meld'sis ‘

a) Leptotene | b) Zygotene } Vt:) Pachvt ene T
178)All the genes found in a breeding population constltutc : o

a) Genotype ‘ b) Genome | ) {Fene. ﬁequency ne"f)'nol

179)This cross finds out the homozygous or heterozygous riature of the genoty, pe

a) Self cross ‘ b) Back cross - | vc) Testcross | L | d) Dihybnd Cross
180)ABO blood group system was dlscevered in 1901 by Ll 7

a) Punnet ‘ b) Wiener "‘-_4:._,_ | c) Bcrnstcm | /d) Landsteiner

181) ABO blood group system is encoded by asmgle polymorphie-gene \Mth

COa) Three multiple b) Fi IVC multnple arleles c) Epug mu_‘lnp‘l_e}a{leles d) Six multiple alleles
alleles

182) ABO Blood system was d,lSCOVCI’Cd by

va) Landstemer | b), Levme |:’£.')"‘B€i*n'stei.h~":' | d) Waldayer

"'| ;/c) AB [d)O

a) Anllgen D) Immunoumbulm o L)P]dbmd |Vd)Antiserum

186)/\ sex = llmxted tralt 1s limited to orily onc sex due o
o, i nce d) Taxonomic difference

dnffcrencc

189)If an.off Qprllng. has its parents types 30-1-30 and recombinant types 20+20 . What is the percentage of its
recombination frequency . *

a) 20 TV (<) 60 [d)80

190) Recombinant DNA is introduced into the host cell by means of .

v/ a) Vector ‘ b) Phage | ¢) Bacterium | d) Fungus

191) In which year Hamilton 0.Smith . at John Hopkins University . Isolated the first restriction Enzymes ?

a) 1965 | ¥b) 1970 | ¢) 1975 | d) 1985

192) Commonly used restriction enzyme is

a) Plasmid | b) Psc 101 | ¢) pBR 322 | v/d) Eco R1

193) Recombinant DNA is introduced into the host cell by means of .

a) Fungus | b) Bacterium | v/c) Vector | d) Virus
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194) Psc 101 has antibiotic resistance gene for

v/ a) Tetracycline [ b) Ampicillin | ¢) Neomycin

| d) Ergotine

195) It makes the bacterial cell more permeable to take up recombinant plasmids .

a) Sodium chloride l b) Cesium chloride v/c) Calcium chloride

| d) Potassium chloride

196) Eco R1 | is a commonly used .

a) Gene | ¥b) Restriction enzyme | ¢) Bacteriophage

| d) Bactena

197)The enzymes which are used to cut the gene of interest are known as .

a) DNA polymerase ¢b) Restriction ¢) RNA polymerase
endonucleases

d) DNA llgase

198)Aspartame is a

a) Monopeptide \ v’b) Dipeptide | C) Tnpeptlde

199)Which of these would you except to be a biotechnology product”'

v’a) Vaccine | b) DNA probe | ¢) Protein®.,

| d) bter01d..-~'-~.

200)The cells which cling to an egg after ovulation is called .

¢/ a) Cumulus ' b) Ovary cells

| d) P]ethora |

201)Polyhdroxy butyrate is called .

a) Antithrombin III b) Nutura sweet

plastre

d) Luciferme

206)Adult transgenic tobacco plants glowed when sprayed ‘with thc substrate .
a) Luciferon | vh)L ucnfenn s | ¢) luciferol 7

| d)Lmzl ferase

207) _—
The enzyme luciferase is produced in an’ msect callec}

a) Housefly ‘ v'b) Firefly.

| d) Tsetsefly

| C) Bune[ﬂv

208)Which enzyme acts as molecular s¢issors %

a) DNA polymerase vh) Resmction c) RNA po}) meétase

endonucl caw

d) DNA gyrase

209)An antibody made bv qoybeam can'be used for treatment oF

a) AIDS | b)HepuuUs | c)Herpe; simplex

| v’ d) Genital herpes

Va) Herpes snmple( \ b) "Malaria i €)) Ath

| d) Gonorrhea

211)Transgenic, bactcna are produced in largc v ats callt:d.--.
a) Transdueet. ™. : ‘ v'h) BlOI'C'&Cth

c¢) Biomultiplier

| d) Culter media

2 12)The phenmneﬁa in which transtep of genetlc matenal from one cell to another and can alter the genetic make

up of the'recipient cell is

a) Translocation | b) Transtauon | ¢) Transduction

| vd) Transformation

213)According to endosymbiont hvpothesw thc acrobic bacteria developed into .

a) Ribosomes l b) Lvsci'somes | ¢/ c) Mitochondria

| d) Golgi apparatus

214)Archaeobacteria can tolerate temperature upto .

a) 600 C [ b) 900 C | vc) 1200C

| d) 1500 C

215)Endosymbiont hypothesis was proposed by

a) Cuvier ‘ b) Lyell | v/c) Lynn Margulis

| d) Malthus

216)A respiratory protein found in all aerobic species is the .

a) Cytochrome - a \ b) Cytochrome - b | v’c) Cytochrome - ¢

| d) Cytochrome - d

217)In terrestrial vertebrates , the gill pouches develop into .

a) Gills ' b) Lungs | ¢) Nose

| v/d) Eustachian tube

Prepared by: M.Qadir Rafique Cell # 03024741124, Whatsapp # 03024741124

Page 9




Guess Paper Biology inter —|| Al-Qadir Jinnah Science Academy Mallian Kalan
218)Which of the following is vestigial organ of whale ?
a) Pelvis | b) Leg bones | | v/ d) Pelvis and leg bones
219)The total aggregate of genes in a population at any one time is called .
a) Genome ‘ b) Successi | d) Gene flow
222)Emigration and immigration of members of population causes disturbance in the .
a) Genetic Drift | b) Genotype | ¢) Gene pool | Vd)
223)Biogeography , is the geographical distribution of .
a) Phylum | b) Class | v/ c) Species
224)The floral parts of a flowering plant are .
¢/ a) Homologous I b) Analogous | ¢) Similar
225)Which one is not a vestigial organ of human being ? i
a) Appendix ‘ b) Coceyx | c) Nlctltatmg mmbrane 1 /d ) Eye lid
226)A group of inter breeding individuals , belonging to same specms and sharmg 4'common geographlc area , 1S
called . )
a) Community | b) Biome | s/c) Populataon | d) ECQS) stcm ‘f.,,
227)Biome is a large . L B T
a) Simple community ' b) Complex community } ;/c) Reglonal commumty | d) Cllmax cammumty
228)Once nitrate enters the plant cell it is reduced to .
a) Nitrite ¥’b) Ammonia | ¢). Protcms } d) Carbohydratc
229)Mutualism is a type of .
v’a) Symbiosis b) Commens_ei}is'm.. T | ©) Parasilism r b d“) Preddllon

230)The bacteria in the root nodules flx mtrogen in 5011 from alr , conv er‘tmg it mto
a) Nitrate W | d) Amino Acid

231) / _'

An association bctwecn orgamsms Oft 'ffercnt species in V\hlch one partncr gets benefit and other is harmed .
a) Mutualism ‘ h) Syn | /c) Paraqrmm | d) Commensalism
232) The symbiotic refatwnshlp betWaen insect and’ ﬂo*wenn15 plants is the example of .

a) Parasitism £y "| V’c’) Mutualism | d) Commensalism
233)Lichens are an example ot g ¥
a) Parasmsm ‘ v'b) MUtUa]lsm c) Prcdatlon | d) Commensalism

734)Decompo§ersand detritus feeders-are. only llvmg organism .

a) Litioral.zone, | b) lemuc Zﬂne | v’c) Profundal zone | d) Atmospheric zone
239)Thc~producers in limnetic zone.are: "

a) Amoebae B I i/b)(yanobactena | ¢) Hydrilla | d) Crustanceans
240)Alpiné Coniferous forests are: found on high .

a) Latitudes ‘ b) [“eng | V/c) Altitudes | d) Slopes

241)A dominant plant of the dec:duous forest is the .

a) Cactus | b) Euphorbia | ¢) Acacia | v/d) Taxus baccata
242)Which one is not a desert .

a) Thal ‘ b) Sahara | ¢) Thar | vd) Taiga

243)In temperate grassland , the rate of primary production is .

va)700- 1500 g/ m2 | b)700- 1400 g/ m2 | ¢) 700 - 1600 g / m2 | d) 700 - 1300 g/ m2
244)In Sindh , the desert ecosystem is called .

/a) Thar | b) Thal | ¢) Sahara | d) Gobi
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245)Average rain fall in desert ecosystem is .
v’a) 10 - 20 inches | b) 30 - 40 inches | ¢) 50 - 60 inches | d) 70 - 80 inches
246)0Ozone in the upper layer of atmosphere that filters .
a) IR radiation l v'b) UV radiation | ¢) radiation | d)radiation
247)The colour of the pure form of ozone (03 ) is.
a) Whitish | b) Yellowish | v¢) Bluish | d) Greemsh
248)Ozone depletion 1s commonly caused by . £
va) CFC2 | b)CO2 | ¢) Smoke
249)The biomes which has been increased in area by human activities .
a) Grassland ‘ b) Savanna | ¢) Coniferous
250)Northern coniferous forests are called as .
a) Boreal | ¢b) Taiga B) Alpmc

QNo#2

What is lithotripsy? (LB-2018)

What are pyrogens? (LB-2008, 2013) ; e o T

What is hypertonic environment and whatchangcs occur ina ccll in such crwlromncnt’ (OR) Dxtfcrcntlatc between
hypotonic and hypertonic environment, (LB 20H), 2012, 2016) W

What are osmoconformers and osmoregulaters“’ (LBQOll)

What is extra corporal shock wave hthompsy”(LB 2014)

What are flame cells? Give their rofe. (OR) What are flame ceUs’ Why they arecalled so? (LB-2014)
Wnte structural tormula ot urea and unc ac;d (LB—2010 201‘2) e

leterentlate between porkllmharms and homeotherms (LB—20[2 2.013)
Dn“crenlldle bcheen c:uolher‘ms and endolherms (LB 2009 2014)

(LB-2012)
Draw and-label weea cycle. (LB- 2018) s S
5. Whaf 1s'$c|attca" (OR) What 1s scmtlca and s cauSes" (LB 2009, 2010 2016)

.':"--._..W‘hat i'the role of vascular camblum" (LB—2011 2012)
‘What 15 axial skeleton? (LBJOIZ) ¥
Whel Is meant b) pdbblVEdﬂd amve lhghf’ (OR) Dl[‘fcrcnlmlc between active and pdbSth: flight. (LB- 2012, 2013)

2011, 2013)

What 1s the difference between tetanus and muscle tetany? (LB-2018)

What is the difference between exoskeleton and endoskeleton? (OR) What is the composition of exoskeleton? (LB-
2015)

What is effective and recovery stroke? (OR) Differentiate between effective and recovery stroke. (LLB- 2016)

What are plantigrade and unguligrade? (OR) What are plantigrade, digitigrade and unguligrade mammals? (LB-
2017)

Characterize collenchyma cells. (LB-2011, 2012)

Compare phototropism and geotropism. (LB-2017)
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Compare hinge joint with ball and socket joint. (LB-2012, 2018)
Define antagonistic movement of muscles (L.B-2018)
Discuss two main types of cartilage. (LB-2013)
Differentiate between compact bone and spongy bone. Give only two differences. (LB-2018)
Dietinguiih bemeen axial qkeleton and appendicular skeleton. (L.LB-2008, 2014)

is chemotactic movement? (LB-2015)

Differentiate between origin and insertion of muscle.

Differentiate between ligament and tendon. (LB-2018)

Explain two types of nastic movements. (OR) Compare epinasty and hyponasty. (LB-ZOIZ, 2013 2016)
Enlist some of the functions of skeleton. (LB-2015)

Name the different types of cells associated with bones. (LB-2014)

What 1s innate behavior? (LB-2016)

What is the role of hypothalamus? (LB-2016)

What 1s synapse? (LB-2011) i et

What are axons and dendrites? (OR) How axon differ from dendrltes (LB 2009 :2010, 2014)
What is reflex arc? (OR) Differentiate between reflex action and. re'ﬂgx arc (LB-2012 2014, 2018)
What 1s the difference between CNS and PNS? (LB-2012, 2016) e,
What 1 Is the tunctlon ot parath\f roid Qland or parathonnone'7 (LB 2008 2013 2016)

gut. (LB-2010, 2013)

Write function of photoreceptors and nociceptors.(LB- 2014) 2
Define saltatory impulse. (OR) Define sahatoty lmpulac and synapse. (LB—2001 201 1)
Define feedback mechanism. (LB-2018)"; o,
Differentiate between etiolation and cblorosm (OR) MWhat is chlorosns" (LB—2018)
Differentiate between active and rcstmg, mcmbrdnc potential. (LB-20 IS) R

Give two commercial applications &f Glbbereﬂms (LB-2011, 2014 2(}18}
What is the action of mcotme ol coordlriatlgn" (LB 2011 20[5) e

panhenoeeneSls” (LB-Z(HO 2011 20!3)
Write down at Iea.st two lm_portam measures to prevent AIDS (LB-ZMS)

and viviparity. (LB 2008, 2009 2012, 2013) |
Classj#y, the plants according to phOTOpCIlOdlC requm:menr for flowering. (OR) Name types of plants according to
photopermdlsm (LB-2013, 2015) 'A A
Defirig photOpcnodlsm and wntc HY eficcts in plants (OR) Give importance of photoperiodism in plants. (LB-
2011, 2016)-,
Deﬁne apomlxes (OR) What 15 me:mt by apomwes” (OR) What is apomixes (LB-2014, 2018)

Differentiate bct\\ccn internal and external fertilization. (LB—2018)

Differentiate between identical twins and fraternal twins. (OR) How identical twins and fraternal twins are
produced? (LB-2010, 2013)

How can you differentiate between menstrual cycle and oestrous cycle? (OR) Define/ Explain oestrous cycle. (LB-
2014)

How test tube babies are produced? (OR) What are test tube babies (LB-2009, 2014)

What do you mean by open growth? (LB-2011, 2012)

What is neurula? (OR) What is neurocoel? (LB-2015)

What is gastrocoel and from which germ layer it is originated? (LB-2013)

What is meant by discoidal cleavage? (LB-2016)
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71.  What is meristem? (OR) Define meristem. Name its types based on position. (OR) Describe various types of
meristems. (OR) What is apical meristem? (OR) What are intercalary meristems. Give their role. (OR) What do
you mean by lateral meristem. (LB-2013, 2015, 2016, 2017, 2018)
What is the difference between epiblast and hypoblast? (LB-2017)
Brieﬂ) deccrihe the external and internal factorq that affect gmv\‘rh n plant< (l B- 2009)

2013)
Define regeneration with examples. (LB-2011)
leferentlate between gerontology and teratology. (LB- 2010)

Differentiate between primary and secondary gromh (LB-2018) i -,

Give the name of the two sheets like layers into which mesoderm splits* andnarne' lhe Ca\ lt} formed between these.
(OR) Differentiate between somatic and splanchnic mesoderm. (LB-20t2 2013) :

How do final size of cells of cortex and tracheids 1is attained in zone ot maturatlon’ (LB-2013)

How notochord is formed in chick embryo? (LB-2011) e,

riicture of DNA? (LB 2017) )
What is alkaptonuria? (OR) What is phenvlketonurla” (OR) leferemlate between alkaptonurra ind
phenylketonuria e A S
What 1 is ccntral dogma" (LB- 2018)

euchromatin. (LB-2016, 2018) B, 4 R
What is mutation? (OR) What dn you imean by mutations? (OR) Deﬁne mutatmn and differentiate between
chromosomal aberration and met mutanon (LB-2010, 2013, 2017)

.‘-‘(OR} What is phosphodiester bond or linkage? (LB-

Dcfmc chromosomal thcor) Qf inheritance. (LB-ZﬂlO 2(}14)-"
Define karyotype. (()R) What s karyoty pe (OR) What do \ou mean by karyotype? Give its significance. (LB-
2014)
Dcﬁnc riucleosome. (LB-2012) 8
Define’ mcteotlde and nucleoside. (LB-ZD[?) 3
. Dehne one gehe/one polypeptlde 'hvpot‘hems” (LB.2017)

""(LB—2012¢20 14, 2018) Jo . o
Deﬁne transcription and how it" 1§, mmated" (OR) What is the function of RNA polymerase in transcription? (LB-
2010 2013)
Differentiate between sense and armwense strands of DNA. (LB-2018)
Give the role and kinds of tRNA™ {LB-2013)
What i1s Necrosis? (LB-2014)
What 1s Khinefelter’s syndrome? (LB-2016)
What are the apparent symptoms or effects of Down’s syndrome? (OR) What is Down’s syndrome? (OR) Describe
causes and symptoms of Down’s syndrome. (OR) Write symptoms of Down’s syndrome. (LB-2014, 2018)
What are the symptoms of Turner’s syndrome? (OR) How Turner’s syndrome is caused and give its features. (OR)
What is Turner’s syndrome? (LB-2013, 2014)
What is mitotic apparatus? (OR) What is mitotic apparatus? Give its functions. (LB-2013, 2016, 2018)
Define cell cycle. (LB-2015,2017)
Define meiosis and mitosis. (OR) What is the importance of mitosis and meiosis? (LB-2017)
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Differentiate between Go-phase and S-phase of interphase. (OR) Differentiate between interphase and mitotic
phase. (OR) Describe changes occur during G1-phase (LB-2011, 2012, 2016)

Give two main importance of meiosis. (LB-2013)

How can you identify Cancer cells? (OR) Cancer is uncontrolled cell division, explain. (LB-2011)

In what respects does mitosis in plant cells differ from that in animal cells? (OR) Explain cytokinesis in plants.
(OR) How cytokinesis occur in plants? (LB-2010, 2018)

What is Bombay phenotype? (LB-2016, 2017)

What 1s MODY? (LLB-2008, 2015, 2016)

What are the genes and alleles? (LB-2016)

What is the role of blood groups in establishing parentage? (LB-2010)

What is meant by universal blood donor and universal recipient?

What is crossing over? What s its importance? (LB-2013)

What 1s bean-bag genetics? (OR) What 1s a gene pool? (OR) Differentiate between gene and gene pool. (LB-2014)
How does ABO incompatibility protect the developing baby against-Rft- mc.nmpatlbz’hty" tLB-2011, 2012)
What 1s meant by linkage, linked genes and linkage groups? (OR) What 159 lml\ag-e group? (OR) Define linkage
group by giving example. (OR) What are linkage groups? Give theig' number 0 human beings. (OR)_ Dehne gene
linkage and gene linkage groups (LB-2012, 2013, 2015, 2018) ...

What is test cross? Why did Mendel suggest this cross? (OR) Gu the algmfleam.e oflcal &msa\ (OR)tht ts test
cross? (nve its uses. (LB 2011 2012, 2013, 2018) i

Define laws of Mendel (OR) Define Mendel ] law of segr‘egatlon (law of pu.nty of gametes) (OR) Define law of
segregation. (LB-2015, 2018) =)

Differentiate between incomplete dormnance and co—dommance (LB- 20 12)

Differentiate between autosomes and- sex~chromosomes (LB-2011) ¢

Differentiate between homozygous atid heterozygous. (LB-2011, 2014 2016)

Differentiate between allele and multlple alleIes" (OR) What aré mulnple eﬂleles” lee example. (LB- 2014)
Differentiate between dommance and eplstams (OR) What : 15 epnstaSns" How it differs from dominance? (LB-2010,
2012 2018) & g

Distinguish between polvvenes and plelotropy (OR) Deﬁne plcmtropy (OR) What 1S plelotropv and its example?
(LB-2013)
Give the concept of ﬂxed al[ele (LB-2012)...
How sex determination occurs in yeast?; (LB-2017)
What 18, a probe" ¢(LB-2014) ; e
What 1s vene pharmmg (LB- 2018)

genomic library. (LB-2016 2018)

What is totipotency? (OR) What is totipotent cell? (OR) Define the term totipotent. (OR) Why plant cells are said
to be totipotent? (LB-2014, 2017)

Define biotechnology. Give its application. (LB-2016)

Define Molecular scissors. (OR) What are restriction enzymes? Give example. (OR) Differentiate between
molecular scissors and molecular vectors? (LB-2009, 2018)

What is the role of molecular carrier-the vector? (OR) Differentiate between plasmids pSC 101 and pBR 3227 (OR)
Elaborate the use of plasmids. (OR) Mention the role of lambda phage during recombinant DNA technology. (LB-
2012, 2013, 2014, 2017)
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Q.No # 4

What 1s genetic drift? (LB-2010, 2011, 2012)

What are hydrothermal vents? How do they support life?

What is modern synthesis/ Neo-Darwinism? (OR) Give the concept of Neo-Darwinism. (LB—ZOIZ, 2014)

Write the name of theories of evolution presented by Lamarck and Darwin. (LB-2011) { ;

What are vestigial organs? Name some important vestigial organs of man. (OR) What are\?astlglal.organs" Give one
example (LB-2010, 2012, 2014, 2018)

Define fossil. Where are most of the fossils found? (LB- 2014)

endangered and 1hrcatcncd species. (LB-2018)

Define Hardy Weinberg Theorem and give its equation in the form of- bmmmdf e(pansnon {LB-2013)

Differentiate between homologous and analogous organs. (OR) Dehne homofogws organs'by mvmg e\amples (LB-
2011,2012) G e 2

What 1s ammonification? (LB-2010)

What 1s assimilation? (LB-2014) G

What is grazing? How grazing affect the texture of 5011” OR) Detrh: grazlng How El’dZCTS atfect the ecosystem’
(LB-2008, 2010) ;

What is biome? (OR) Differentiate between biome and waphere"

Define predation. (OR) Give the significance of predation, (LB-ZOIZ 2016)

Define succession and name its types. (LB-2014)- B

Define biogeochemical cycles. (OR) What-are brogeochemlcal cycles? (LB- 2012) =

Define productivity of an ecosystem and dlﬁe-renﬂate between gross prlmaIy producuon dI'td net primary production.
(LB-2008) #

Define ecosystem. Write its componenl’s (OR) Defme ecosystem. (LB-2012 2016)._‘.--":

Define biosphere. (OR) What is blosphere (OR) Define blosphere ‘and ecosystem (LB-2014, 2015, 2018)

Define parasitism. Give its sngmitcantc (OR) ‘Differentiate befweenpredauon and parasitism. (LB- 2009, 2012)
Define commensalism. lec ene c:\amplc ‘{OR) Define CQmansal.lsm with the help of an example. (LB-2013,

Define food chain and food web (0 ). Define food cham bvgwmg dne example (LB-2010, 2012, 2013, 2015)
Dlﬂcrcntlatc bctwccn populatlon and commumtv (LB—ZOH}

2013, 2018)
leferentlate between micro and macro nutnents” (LB—ZOIO)
lefer’entlate betw&:en consumers and decompmers (OR) What are consumers? (LLB-2014)

"mccesqmnv (LB-2012, 2017)
What 15 the composition of air of t:mcsina} ccosvstcm” (LB-2012)
What i 1s the effect ot human lmpact on lundra ecosvstem 2 ( LB—2013)

deciduous forest? (LB-2012)

What 1s meant by layering in a grassland ecosystem? (OR) Give the layering characteristics of grassland. (LB-2013)
What is profundal zone? Give its one character. (OR) What type of organisms are present in profundal zone of lake?
(LB-2018)

Differentiate between Alpine and Boreal forests. (LB-2009, 2018)

Differentiate between Zooplankton and Phytoplankton. (LB-2008, 2011)

Differentiate among littoral, limnetic and profundal zone. (OR) Characterize littoral zone of fresh water lakes. (OR)
What 1s limnetic zone mention its life. (LB-2013, 2014)

Enlist two adaptations in plants and two in animals for a terrestrial ecosystem. (OR) Give two adaptations of
terrestrial ecosystem. (LB-2010, 2012)
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Give the name of some major ecosystems on land in Pakistan.
Give location of Tundra ecosystem in Pakistan. (LLB-2014)
Mention the characteristics of plant life in desert ecosystem. (LB-2013)
What is acid rain? (LB-2013)
What is Ozone? (OR) Give the importance of ozone layer (LB-2017)
Write names of various types of pollution. (LB-2011)
What are the main sources of water pollution? (OR) Give main causes of water pollution. (LB~,2012, 2015)
Write the causes and effects of ozone depletion? (OR) Give the effects of ozone depletion on hfe {E B -2012)
What are solid wastes and how these can be used as source of energy? (OR) Give lmportanéc of sohd avaste.
What do you mean by non-renewable resources? (OR) What are renewable resources,.&iv ecxamples (OR)
Differentiate between renew ahle and non- rene\wahle resources (LB-2011, 2013, 2014 2016 2018)

What 1s deforestation? (OR) What 1S atforestatmn” (OR) What is retorestatron? (OR) What 1s the difference
between deforestation and afforestation? (OR) Differentiate bctwcen aftdrcstatton and’ rcf()restatlon (OR) What 1s
the difference among deforestation, afforestation and reforestation? (LB '20 1%, 2(}15) ;

Define greenhouse effect ] k.

Dcsulbc abuses oi land (LB-2012)

Explosion 1n the world also descnbe Populatmn Pressure (OR) erte the reasons of \wﬂd Popuiataon Explosion.
(OR) What do you mean by Population Explosiogi‘and give'its‘two causes? (LR- 2010 201.3,2014)

How 1s air important to life as a source? (LB-ZO f2§ .. po

Why trees are called environmental huffers? tQR), Define environmental. buffers

LONG QUESTION

Write note on osmore gulatloh fFmaring f shcs (LB-20 14)

Write down the struetiife: -of 2 nephron (LB-2012) ¢

Discuss excretion ip ‘Coekroach, (1:B-2016) ; REST ¥

Describe various k\dnC\ problcms and their cure-m- human (OR) DISCUSS kidney problems in humans. (LB-2008,
2010) :

Explain ew(cretmn i plants (OR) Describg; the excret]on m plants (LB-2012, 2013, 2014, 2018)

Writg-a note on grazing. (LB-2014) ...

erte,a note on.njtrogen cycle. (LB-Z(lll 2012 2015, 2016)

Dlscuss the flow of energy in food- cham of an ecosvstem (LB-2018)

|omts (LB-2012 2013) o

What 1s endoskeleton? Dcsu‘ibc bum: and Larulagc (LB-2010)

What 1s Sliding Filament Modét-efmuscle contraction? What does it explain? (LB-2018)
Write a note on human appendicular skeleton. (LB-2016)

Write down the mechanism of muscle contraction. (LB-2011)

Describe the significance of secondary growth. (LB-2015)

Explain about exoskeleton in Arthropods. (LB-2012)

Explain the role of Calcium ions in the process of Sliding Filament Model. (LB-2010)
Give an account of paratonic movement in plants. (LB-2015)

What are chromosomes? What do you know about their number, karyotype, types and shapes? (OR) Describe types
of chromosomes on the basis of centromere. (LB-2015, 2017)

Describe Watson-Crick Model of DNA 1n detail. (LB-2013, 2014)
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Write any four differences between nervous and chemical coordination. (LB-2018)

Define and explain feedback mechanism?

Define and explain nerve impulse. (OR) Describe initiation of nerve impulse. (LB-2014)

Discuss the nervous system of Hydra. (OR) Compare the nervous system of Hydra and Planaria. (OR) Nervous
system of Hydra is better developed than of Planaria. Discuss. (LB-2012, 2013, 2016)

Write a note on greenhouse effect. (LB-2011)

Write a note on deforestation and afforestation. (OR) Describe deforestation. (LB- 2013 2018 4

Write a note on ozone layer depletion. (LB- 2012)

What is pollution? Explain the phenomenon of air pollution. (LB-2017)

Q \ 0.8
Write a note on test tube babies. (LB-2016) = {d

2_ Compare asexual reproduction with sexual reproduction. (OR) lee & comprehenswe somparlson between asexual
and sexual reproduction. (LB-2012, 2015)
Diseases with the help of examples. (OR) Explain Sexually Transmmed Dlseases in humans (LB+20N 2016
2017) .
What is epistasis? Explain it with an example of Bombay phcnotype (LB 2013)
What 1S mcomplete dominance? Explam it with an e\ample (LB-2012 2013)

Detme and explain sex- lml\age in Drosophlla (LB—ZO]S)
Describe Mendel’s law of qegregatmn (law of pufity of gametee) OR) Define. Mende] § lawof qegreoatmn Explain
it with one example. (OR) What 1s Mende|’s }aw of segregation? Illustrate 1t w1fh an cxamplt.‘ (LB-2011, 2016)

9.  Detfine Mendel’s law of Independent Assbrtmem E)splam it with an e\a.mpre G

Q\O9

What 1s growth? Discuss different p'haceq of‘ growth in plants (()R) Drscu' dlfferent phaees of plant growth. (LB-

2014)

this proce«" (OR) What 1s agmg" Desenbe 1ts causes and symptnms (l B—2013 2015, 20I6 20I7 20I8)
Explam the role of nuc]cus ) dcvc.lopmcnt (OR) Dcscnbc thc rolc of hucleus n dcvclopment (LB- 2010, 2017)

Describe the ev ldenccs of- evolutlon from Bloac;)gra.ph;y and fossnl record. (LB-2008)
Dnscuss evolutlon frofitprokaryotes to eukaryates (LB—ZOI 1)
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